Ratio to UA1

do/dsum E; [mb,GeV]

=
<
[N

0.5

=
(@)

=

900 GeV ppbar Soft QCD
:l T I T I T I T I T | T I T I T I T I | I T I T I T =]
B Sum ET (UAL, all p) _
LI =
=3 o0 IE
— ma'¢ -
- AT 7]
¢ L

: [ *
= S
- m UAL a
— ¢ ¢ Sherpa 1.4.3 default _ I
n | Ly | | | | | | | P I ||
:l T T T T | T T T T | T I:: T I:
- Y -
— ; SRR -
- Lo e .
- ¢ N
— L .-":"‘-.:': ’ A -
ey

4 |
— 4 AR I
L ’ ¢ QQ'. ' _

,Q‘Q :.- *
— ’ ’ ”00 -
o,
- N . a * —
| TR WYYYY AN l” o |
0 50 100

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


